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package sort

import ”“fmt”

func QuickSort(arr []int) []int {
if len(arr) <= 1 {

return arr
1
splitdata := arr[0] /B
low := make([]int, 0, 0) /B F AN I
hight := make([lint, 0, 0) /&K KHIZH
mid := make([]int, 0, 0) /G —FEKHIE

mid = append (mid, splitdata) //JIJA—7T
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for i := 1; i < len(arr); i++ {
if arrl[i] < splitdata {
low = append (low, arr[i])
} else if arr[i] > splitdata {
hight = append(hight, arr[i])
} else {
mid = append (mid, arr[i])

}

low, hight = QuickSort(low), QuickSort (hight)
myarr := append(append(low, mid...), hight...)
return myarr

/R T

func main() {
arr := [Jint{1, 9, 10, 30, 2, 5, 45, 8, 63, 234, 12}
fmt. Println (QuickSort (arr))
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package sort
import “fmt”

/AT
func main() {
arr := [Jint{l, 9, 10, 30, 2, 5, 45, 8, 63, 234, 12}
fmt. Println (HeapSort (arr))
}
func HeapSortMax(arr []int, length int) []int {
// length := len(arr)
if length <=1 {

return arr
}
depth := length/2 - 1 // - XHIRE
for i := depth; i >=0; i— {
topmax := i //IRERAHINE LI E
leftchild := 2%i + 1
rightchild := 2%i + 2
if leftchild <= length-1 & arr[leftchild] > arr[topmax] { /B il ikl 5}
PR
topmax = leftchild
}
if rightchild <= length—1 && arr[rightchild] > arr[topmax] { //Fril i/
IR
topmax = rightchild
}
if topmax != i {
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arr[i], arr[topmax] = arr[topmax], arr[i]

}
return arr
}
func HeapSort(arr [Jint) []int {
length := len(arr)
for i :=0; i < length; i++ {
lastlen := length - i
HeapSortMax (arr, lastlen)
if i < length {
arr[0], arr[lastlen-1] = arr[lastlen-1], arr[0]

}

return arr
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package sort
import ”“fmt”

/AT

func main() {
arr := [lint{1, 9, 10, 30, 2, 5, 45, 8, 63, 234, 12}
fmt. Println (GetMax (arr))
fmt. Println (BubbleSort (arr))

}

/ ETARETF IR Z A A
func GetMax(arr []int) int {
for j := 1; j < len(arr); j++ {
if arr[j-1] > arr[j] {
arr[j-1], arrl[j] = arr[j], arr[j-1]
}
1

return arr[len(arr)-1]

// BEHEST
func BubbleSort (arr []int) [Jint {
for i :=0; i < len(arr); i++ {
for j :=1i + 1; j < len(arr); j++ {
if arr[i] > arr[j] {
arrlil, arr[j] = arrljl, arr[i]

}

ASCRS £ s RSO (www. topgoer.cn) F - 6 -



By %

}

return arr
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package sort
import “fmt”

func bin_search(arr []int, finddata int) int {
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low := 0
high := len(arr) - 1
for low <= high {
mid := (low + high) / 2
fmt. Println (mid)
if arr[mid] > finddata {
high = mid - 1
} else if arr[mid] < finddata {
low = mid + 1

} else {
return mid
}
}
return -1

func main() {

arr := make([]int, 1024%1024, 1024%1024)

for i := 0; i < 1024%1024; i++ {
arr[i] =1 + 1

}

id := bin search(arr, 1024)

if id !'= -1 {
fmt. Println(id, arr[id])

} else {
fmt. PrintIn ("AH K EEIE")
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package sort
import “fmt”

//ERET) v BT ) B R AE
func SelectMax (arr []int) int {
length := len(arr)
if length <= 1 {
return arr[0]
}
max := arr[0]
for i := 1; i < length; i++ {
if arr[i] > max {
max = arr[i]

}
}

return max

}

/IR A

func SelectSort (arr []int) [Jint {
length := len(arr)
if length <= 1 {

return arr

}

for i := 1; i < length; i++ {
min := i

for j :=1i + 1; j < length; j++ {
if arr[min] > arr[j] {
min = j

}
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}
if i != min {
arrli], arr[min] = arr[min], arr[i]
}
1
return arr
}
/[ EREHET

func main() {
arr := [Jint{1, 9, 10, 30, 2, 5, 45, 8, 63, 234, 12}
max := SelectMax (arr)
selectsort := SelectSort (arr)
fmt. Print1n (max)
fmt. Println(selectsort)
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package sort
import “fmt”

func main() {
var arr [3][]int
myarr := [lint{l, 2, 3, 1, 1, 2, 2, 2, 2, 2, 3}
for i :=0; i < len(myarr); i++ {
arr[myarr[i]-1] = append(arr[myarr[i]-1], myarr[il])
}

fmt. Println (arr)
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package main

import (
” fmt ”
)

/Bl A

type graph struct {
vertex int /T
list maplint] [Jint //ZE#ZH£L

func (g *graph) addVertex(t int, s int) {
g. list[t] = push(g. list[t], s)
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func main() {
g := NewGraph (8)
g.addVertex (2, 1)
g. addVertex (3, 1)
g. addVertex (7, 1)
g. addVertex (4, 2)
g. addVertex (5, 2)
g. addVertex (8, 7)
g. DfsSort ()

/G
func NewGraph (v int) s*graph {
g := new(graph)
g.vertex = v
g. list = map[int][]int{}
i:=0
for i < v {
g. list[i] = make([]int, 0)
i++
1

return g

SR
func pop(list []int) (int, []int) {
if len(list) > 0 {
a := list[0]
b := list[1:]
return a, b
} else {
return -1, list

/A

func push(list [Jint, value int) []int {
result := append(list, value)
return result

/S
func (g *graph) KhanSort() {
var inDegree = make (map[int]int)
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var queue []int
for i := 1; i <= g.vertex; i++ {
for , m := range g. list[i] {

inDegree[m]++

}
for i := 1; i <= g.vertex; i++ {
if inDegreeli] == 0 {
queue = push(queue, 1)
}
}

for len(queue) > 0 {
var now int
now, queue = pop (queue)
fmt. PrintIn("—>”, now)
for , k := range g. list[now] {
inDegree[k]—
if inDegreelk] == 0 {
queue = push(queue, k)

func (g *graph) DfsSort() {
inverselList := make(map[int][]int)
/BG5S B
for i := 1; i <= g.vertex; i++ {
for , k := range g. list[i] {
inverseList[k] = append(inverseList[k], i)

1
visited := make([]bool, g.vertex+l)
visited[0] = true
for i := 1; i <= g.vertex; i++ {
if visited[i] == false {
visited[i] = true
dfs(i, inverselList, visited)

func dfs(vertex int, inverselList mapl[int][]int, visited []bool) {
for , w := range inverselList[vertex] f{
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if visited[w] == true {
continue
} else {

visited[w] = true
dfs(w, inverseList, visited)

}

fmt. PrintIn("—>", vertex)
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package main

import (
7 fmt

”

)

func main() {
arrList := [lint{1, 2, 8, 11, 3, 6, 8, 4, 9, 343, 3}
arrList = standardInsertSort (arrList)
fmt. Println (arrList)

}

func standardInsertSort(list [Jint) [Jint {

resultList := []int{}

length := len(list)

i:=1

resultList = append(resultList, list[0])

for i < length {

for j := 0; j < len(resultList); j++ {
if list[i] <= resultList[j] {

resultList = insertList (resultlList, j, list[il)
break

SRS b R SCRS (www. topgoer.cn) - 17 -



FANHFPSIE

if j == len(resultList)-1 && list[i] > resultList[j] {
resultList = insertList (resultList, j+1, list[i])
break

}
i++
}
return resultlList
}
func insertList(list []int, i int, x int) []int {
returnList := []int{}
n:=0
if i == len(list) {
returnList = append(list, x)
return returnlList

}
for n < len(list) {
ifn <i {
returnList = append(returnList, list[n])
} else if n == i {
returnlList = append(returnList, x)
returnList = append(returnList, list[n])
} else {
returnList = append(returnList, list[n])
}
n++
1

return returnlList
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package main
import “fmt”

func main() {
a := “ababaeabacaaaaaddfdfdfdfdf”
b := “aca”
pos := Kmp (b, a)
fmt. Println (pos)
}
func Kmp (needle string, str string) int {
next := getNext (needle)
fmt. Println (next)
j:=0
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for i :=0; i < len(str); i++ {

for j > 0 && strl[i] != needlelj] {
j = next[j-1] + 1

}

if strli] == needle[j] {
jH+

}

if j == len(needle) {
return i - j + 1

}

return -1

func getNext (needle string) []int {
var next = make([]int, len(needle))
fmt. Print1ln (next)

next[0] = -1
k := -1
for i := 1; i < len(needle); i++ {
for k != -1 && needle[k+1] != needlel[i] {
= next[k]

}
if needlel[k+1] == needlel[i] {
e

}
next[i] =k
1

return next
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package main

import (
“fmt”
“math”

)

type Node struct {
value int
left  *Node

right #*Node
parent *Node

}

type Tree struct {

A RS A B RSO (www. topgoer.cn) - 22 -



AR

root  *Node
length int

func main() {
creatTree ()

func creatTree() {
arrList := [lint{14, 2, 5, 7, 23, 35, 12, 17, 31}
myTree := Treef{}
for i :=0; i < len(arrList); i++ {
myTree = insertNode (myTree, arrList[i])
myTree. length++
1
fmt. Println (myTree)
//LDR (myTree)
TreeHeight (myTree)
}
func TreeHeight (tree Tree) {
var hl = 1
if tree.root.left != nil {
hl = heightMax (tree. root. left, hl)
1
var hr = 1
if tree.root.right != nil {
hr = heightMax (tree. root. left, hr)
1
fmt. Println(hl, hr)
fmt. Println(“Tree height is 7, int(math.Max (float64(hl), float64(hr))))

func heightMax(node *Node, h int) int {
var hl. = h
var hR = h
if node. left == nil && node.right == nil {
fmt. Println (node)

return h
}
if node. left != nil {
h++
hL = heightMax (node. left, h)
1
if node.right != nil {

h++
hR = heightMax (node. right, h)
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}
return int(math. Max (float64 (hL), float64 (hR)))

/A
func LDR(tree Tree) {
readList := make (map[int]int)
i:=0
var currentNode *Node
currentNode = tree. root
for {
//fmt. Println (currentNode)
if i == tree. length {
//fmt. Printlin (currentNode. value)
break
}

if currentNode. left == nil {

if readList[currentNode. value] == 1 {
if readlList[currentNode. right. value] == 1 {
currentNode = currentNode. parent
continue
} else {
currentNode = currentNode. right
continue
}
} else {

fmt. Println (currentNode. value)

readList[currentNode. value] = 1

i++

if currentNode. right == nil {
currentNode = currentNode. parent

continue
} else {
if readList[currentNode. right. value] == 1 {
currentNode = currentNode. parent
continue
} else {
currentNode = currentNode. right
continue
}
}
1
} else {
if readList[currentNode. left. value] == 1 {
if readList[currentNode. value] == 1 {

currentNode = currentNode. right
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continue

} else {
fmt. Println (currentNode. value)
readList[currentNode. value] = 1
i+
if currentNode.right == nil {

currentNode = currentNode. parent

continue
} else {
if readList[currentNode. right. value] == 1 {
currentNode = currentNode. parent
continue
} else {

currentNode = currentNode. right
continue

}

} else {
currentNode = currentNode. left
continue

func insertNode(tree Tree, insertValue int) Tree {
var currentNode *Node
var tmp *Node
i:=0
if tree. length == 0 {
currentNode = new(Node)
currentNode. value = insertValue
tree. root = currentNode
return tree
} else {
currentNode = tree. root
1
for {
//fmt. Println (currentNode)
if currentNode. value < insertValue {
/PR AT
if currentNode.right == nil {
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tmp = new(Node)
tmp. value = insertValue
currentNode. right = tmp

tmp. parent = currentNode

break
} else {
currentNode = currentNode. right
continue
1
} else {

if currentNode. left == nil {
tmp = new(Node)
tmp. value = insertValue
currentNode. left = tmp
tmp. parent = currentNode
break

} else {

currentNode = currentNode. left
continue

}
it++
}

return tree
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package main
import “fmt”

/T 1A ]

type graph struct f
vertex int
list maplint][]int
found bool

func main() {
g := NewGraph (8)
g. addVertex (1, 2)
g. addVertex (1, 4)
g. addVertex (2, 3)
g. addVertex (2, 5)
g. addVertex (4, 5)
g. addVertex (3, 6)
g. addVertex (5, 6)
g. addVertex (5, 7)
g. addVertex (6, 8)
g. addVertex (7, 8)
g.bfs(1, 7)

/B
func NewGraph (v int) *graph {
g := new(graph)
g.vertex = v
g. found = false
g. list = map[int][]int{}
i:=0
for i < v {
g. list[i] = make([]int, 0)
i++
1

return g

/A

func (g *graph) addVertex(t int, s int) {
g. list[t] = push(g. list[t], s)
g. list[s] = push(g. list[s], t)
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func pop(list [Jint) (int, [Jint) {
if len(list) > 0 {
a := list[0]
b := list[1:]
return a, b
} else {
return -1, list

J/THEAN DA
func push(list []int, value int) []int {
result := append(list, value)

return result

ST R
func (g *graph) bfs(s int, t int) {
e § = i |
return
1
visited := make([]bool, g.vertex+l)
var queue []int
queue = append(queue, s)
prev := make([]int, g.vertex+l)
i:=0
for i < len(prev) {
prev[i] = -1
i++
1
for len(queue) != 0 {
var w int
w, queue = pop (queue)
for j :=0; j < len(g. listlw]); j++ {
q := g listlw][j]
fmt. Println(q)
if !visited[q] {
previql = w
if g =1t {
fmt. Println (prev)
printPath (prev, s, t)
return

}

visited[q] = true
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queue = append (queue, q)

IR

func (g *graph) dfs(s int, t int) {
prev := make([]int, g.vertex+l)
for i := 0; i < len(prev); i++ {

prev[i] = -1

1
visit := make([]bool, g.vertex+l)
g. recurDsf (s, t, prev, visit)
fmt. Println (prev)
printPath (prev, s, t)

func (g *graph) recurDsf(w int, t int, prev []int, visited []bool) {
if g. found {
return
}
ifw=1t {
g. found = true
return
1
visited[w] = true
for i :=0; i < len(g. list[w]); i++ {
q := g list[w][i]
if lvisited[q] {
previg] = w
g. recurDsf (g. list[w][i], t, prev, visited)

/S IRPELSEHE M
func printPath(prev []int, s int, t int) {
if prev[t] != -1 & s =t {
printPath (prev, s, prev[t])

}

fmt. Println(t, 7 7)
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package hash

import (
“bytes”
“crypto/md5”
“crypto/shal”
“encoding/binary”
"t

// TCEEZR I P2

type NoLinkHashTable struct {
Buckets []Bucket
Capacity int32
Used int32

/i
type Bucket struct {
HKey string

Data int

func NolinkHashTable(length int32) {
/T I
ht := NoLinkHashTable {}
ht. Capacity = length
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ht. Buckets = make ([]Bucket, length)
for i :=0; i < 5; i++ {
ht. hSet (“abc”, 1)
1
fmt. Println (ht)
one := ht.hGet (“abc”)
fmt. Print1ln (one)

func (ht *NoLinkHashTable) hSet(key string, value int) {
bucket := Bucket{key, value}
hashCode := GetHashCode (key, 1)
index := hashCode % (ht.Capacity — 1)
ht. addBucket (index, key, bucket)

func (ht *NoLinkHashTable) hGet (key string) Bucket {
hashCode := GetHashCode (key, 1)
index := hashCode % (ht.Capacity — 1)
return ht. findBucket (index, key)

func (ht *NoLinkHashTable) findBucket(index int32, key string) Bucket {
var empty = Bucket {}
if ok := ht.Buckets[index]; ok != empty {
if ht.Buckets[index].HKey == key {
return ht. Buckets[index]
} else {
index++
}
for {
if ok := ht.Buckets[index]; ok != empty {
if ht. Buckets[index].HKey == key {
return ht. Buckets[index]

} else {
indext++
}
} else {

return empty

}

return empty

AT RS A B RSO (www. topgoer.cn) - 32 -



[1elIES

func (ht *NoLinkHashTable) addBucket(index int32, key string, bucket Bucket) {
if ht.Capacity == ht.Used {
panic (“Table is full”)
}
var empty = Bucket {}
if ok := ht.Buckets[index]; ok != empty {
if ok. HKey == key {
ht. Buckets[index] = bucket
return
}
/ EEFTE
index++
for {
//fmt. Printin (index)
if index >= ht.Capacity {
index = 0
1
if ok := ht.Buckets[index]; ok != empty {
if ok. HKey == key {
ht. Buckets[index] = bucket

return
}
index++
} else {
ht. Buckets[index] = bucket
ht. Used++
break
1
}
} else {
ht. Buckets[index] = bucket
ht. Used++

}
func GetHashCode (key string, hashType int) int32 {
var Result []byte
switch hashType {
case |:
Md5Inst := md5. New ()
Md5Inst. Write ([]byte (key))
Result = Md5Inst. Sum([Jbyte(””))
case 2:
Shallnst := shal.New()
Shallnst. Write ([1byte (key))
Result = Shallnst. Sum([]byte(””))
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1
bin buf := bytes. NewBuffer (Result)

var x int32
binary. Read (bin buf, binary.BigEndian, &x)
return x
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package heap
import (
" fmt”
)
type Node struct {

Value int
Key string
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type Heap struct {
list  []*Node
length int

/O HE
func CreateHeap() {
arrList := []int{1, 2, 11, 3, 7, 8, 4, 5}
var myHeap Heap
myHeap. list = append (myHeap. list, &Node{})
for , value := range arrList {
tmp := Node {}
tmp. Value = value
myHeap. InsertHeap (&tmp)

}

for {
node := myHeap. GetTopHeap ()
fmt. Println (node)

}

myHeap. SortHeap (myHeap. list)
heapShow (myHeap. 1ist)

ST

func (h *Heap) InsertHeap(one *Node) {
h. list = append(h. list, one)
length := len(h. list)
h. length = length - 1
h. AdjustHeap (h. length)

/R

func (h *Heap) SortHeap (heaps []*Node) {
length := len(heaps)
length = length — 1
if length == 1 {

return
1
if length == 2 {

h. AdjustHeap (length — 1)
1

for length > 0 {
h. SliceNodeSwap (1, length)
length—
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h. Heapfiy (length, 1)

1

/IRIF

minPos := 1

maxPos := h. length

for minPos < maxPos {
h. SliceNodeSwap (minPos, maxPos)
minPos++

maxPos——

// B T %
func (h *Heap) AdjustHeap(length int) {
if length < 1 {
return
1
if length == 2 {
if h. list[length].Value > h. list[length-1].Value {
h. SliceNodeSwap (length, length-1)
}
return
1
i := length
for i/2 > 0 && h.list[i].Value > h.list[i/2].Value {
h. SliceNodeSwap (i, i/2)

i=1/2
1
return
}
// %41 Hiheap
func heapShow (heaps []*Node) {
for one, value := range heaps {
fmt. Println(one, value)
1

//node slice3

func (h *Heap) SliceNodeSwap(i int, j int) {
x := h. list[i]
h. list[i] = h. list[j]
h. list[j] = x

/B LA YA
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func (h *Heap) Heapfiy(length int, pos int) {
for {

maxPos := pos

if pos*2 < length && h. list[pos].Value < h. list[pos*2].Value {
maxPos = pos * 2

}

if pos*2+1 < length && h. list[maxPos]. Value < h. list[pos*2+1].Value {
maxPos = pos*2 + 1

}
if maxPos == pos {
break
}
h. SliceNodeSwap (pos, maxPos)
pos = maxPos

/R T
func (h *Heap) GetTopHeap() #*Node {
if h. length == 0 {
panic ("Heap is empty”)

1
top := h.list[1]
/T TR HE JE 38

h. SliceNodeSwap (1, len(h. list)-1)

length := lent(h. list) - 2

fmt. Println(length)

h. Heapfiy (length, 1)

heapShow (h. 1ist)

h. list = append(h. list[:length+1], h.list[length+2:]...)
h. length—

return top
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package linkedList
import “fmt”

type Node struct {
Data int
NextPoint *Node
PrePoint *Node

type LinkedList struct {
head *Node
current *Node
tail *Node

func CreatLinkedList() {
data := []int{1, 21, 31, 51, 62, 2, 3, 42, 33, 12, 12}
link := LinkedList {}
var currentNode *Node
for i := 0; i < len(data); i++ {
currentNode = new(Node)
currentNode. Data = datali]
insertNode (&1ink, currentNode)
1
showLinkedList (1ink)
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func showLinkedList(link LinkedList) {
var currentNode *Node
currentNode = link. head

for {
fmt. Println(”"Node:”, currentNode.Data)
if currentNode. NextPoint == nil {
break
} else {

currentNode = currentNode. NextPoint

func insertNode(link *LinkedList, node *Node) f{
if link. head == nil {
link. head = node
link. tail = node
link. current = node
} else {
link. tail.NextPoint = node
node. PrePoint = link. tail

link. tail = node
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package skipList
import “fmt”

type Node struct {
Data int
NextPoint *Node
PrePoint *Node
NextLevel *Node
}

type LinkedList struct {
Head *Node
Current *Node
Tail *Node
Length int
Level int
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type SkipList struct {
List LinkedList
FirstIndex LinkedList
SecondIndex LinkedList
//ThirdIndex LinkedList

func InitSkipList() {
data := [lint{11, 12, 13, 19, 21, 31, 33, 42, 51, 62}
sl := SkipList{}
sl. initSkip(data)
//sl. find (19)
sl.add(11)
showSkipList (s1)

func showSkipLinkedList(link LinkedList, name int) {
var currentNode *Node
currentNode = link.Head
for {
i:=1
fmt. Print (name, “—Node:”, currentNode.Data)
if currentNode.NextPoint == nil {

break
} else {
currentNode = currentNode. NextPoint
}
if name == 1 {
it Preimi (“======== >7)
} else if name == 2 {
for i <=3 {
fmt. Print (—————— >7)
{4+
}
} else {
for i <=7 {
itimic, Preimi (“======== >7)
i++
}
}

}
fmt. Println(””)

func (sl #SkipList) initSkip(list [Jint) {
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sl.List = LinkedList {}
sl.FirstIndex = LinkedList {}
sl. SecondIndex = LinkedList {}
var currentNode *Node
for i := 0; i < len(list); i++ {
currentNode = new(Node)
currentNode. Data = list[i]
addNode (s1, currentNode)
//insertToLink (&sl. List, currentNode)
1
showSkipList (ksl)
}
func (sl *SkipList) find(x int) {
var current *Node
current = sl. SecondIndex. Head
if current.Data == x {
fmt. Println (current. Data)
return
1
if x < current.Data {
panic ("No exist in skipList”)
return
1
for {
if x > current.Data {
fmt. Println(current. Data)
current = current. NextPoint
} else if x < current.Data {
// FREFEZ 5]
fmt. Println(current. Data)
current = current. PrePoint. NextLevel. NextPoint
} else {
fmt. Println(current. Data)
return

}
func (sl #SkipList) add(x int) {
var current *Node
current = sl.SecondIndex. Head
if current.Data == x {
panic (“Had existed in skipList”)
return
}

if x < current.Data {
newNode2 := new(Node)
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newNode2. Data = x

newNode2. NextPoint = sl. SecondIndex. Head
sl. SecondIndex. Head. PrePoint = newNode2
sl. SecondIndex. Head = newNode2

newNodel := new(Node)

newNodel. Data = x

newNodel. NextPoint = sl.FirstIndex. Head
sl. FirstIndex. Head. PrePoint = newNodel
sl. FirstIndex. Head = newNodel

newNode := new(Node)

newNode. Data = x

newNode. NextPoint = sl.List. Head

sl. SecondIndex. Head. PrePoint = newNode
sl.List.Head = newNode

return
}
for {
if x > current.Data {
if current.NextPoint == nil {
if current.NextLevel != nil {
current = current. NextLevel
} else {
/A

newNode := new(Node)
newNode. Data = x
current. NextPoint = newNode
newNode. PrePoint = current
return

}

} else {
fmt. Println (current. Data)
current = current. NextPoint

} else if x < current.Data {

// 1] T EFHE— ATl

fmt. Println(current. Data)

if current.PrePoint. NextLevel != nil {
current = current. PrePoint. NextLevel. NextPoint

} else {
/S A
newNode := new(Node)
newNode. Data = x
current. PrePoint. NextPoint = newNode
newNode. NextPoint = current

current. PrePoint = newNode
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return
}
} else {
fmt. Println (current. Data)
return

}
func showSkipList (sl SkipList) {
showSkipLinkedList (sl. SecondIndex, 3)
fmt. Println (””)
showSkipLinkedList (sl. FirstIndex, 2)
fmt. Println (””)
showSkipLinkedList (sl.List, 1)
}
func addNode (skipList *SkipList, node *Node) {
insertToLink (&skipList. List, node)
if skipList.FirstIndex. Length == 0 || ((skipList.List.Length-1)%2 == 0 && sk
ipList. List. Length > 2) {
newNode := new(Node)
newNode. Data = node. Data
newNode. NextLevel = node
insertToLink (&skipList. FirstIndex, newNode)
if skipList. SecondIndex.Length == 0 || ((skipList.FirstIndex. Length—1)%2
== (0 && skipList.FirstIndex. Length > 2) {
newNode2 := new(Node)
newNode2. Data = node. Data
newNode2. NextLevel = newNode
insertToLink (&skipList. SecondIndex, newNode2)

func insertToLink(link *LinkedlList, node *Node) {
if link.Head == nil {
link. Head = node
link. Tail = node
link. Current = node
} else {
link. Tail. NextPoint = node
node. PrePoint = link. Tail
link. Tail = node
}

link. Length++
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package main
import “fmt”

type TrieNode struct {
value int
dictionary [26]*TrieNode
1

type TrieTree struct {
root *TrieNode

}

func main() {
tree := createTree ()
//fmt. Printlin (tree)
flag := tree. findWord ("her”)
fmt. Println(flag)
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flag = tree. findWord ("x
fmt. Println(flag)

func createTree() TrieTree {
arrList := []string{"how”, “hi”, “her”, “hello”
myTree := TrieTree{}
SR TS 3%
myTree. root = &TrieNode {}

”

” ” ”
so”, “see”}

for , value := range arrList {
myTree. addWord (value)
1
return myTree
}
func (t *TrieTree) addWord(word string) {
fmt. Print1n (word)

nowNode := t.root
a :=int(Ca’)
var char int
for i :=0; i < len(word); i++ {
char = int (word[i])
if nowNode. dictionary[char-a] != nil {
nowNode = nowNode. dictionary[char-a]
continue
} else {

newNode := &TrieNode {}

nowNode. dictionary[char-a] = newNode
nowNode = newNode

continue

func (t *TrieTree) findWord(word string) int {
nowNode := t.root
a := int(Ca’)
var char int
for i :=0; i < len(word); i++ {
char = int (word[i])
if nowNode. dictionary[char-a] != nil {
return 0
} else {
nowNode = nowNode. dictionary[char-a]
}
if i == len(word)-1 {
return 1
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}

return 0O
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